Name of the Trade - Workshop calculation and Science - 2" vear NSQF - Module 1 : Friction

# Question OPT A OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans |Level
1|Which is the law of friction? Friction force is Frictional force is Frictional force acts in | Frictional force is not [aleT &T &¥UT T IH &2 YT o &7 3R gYuT §of T T T & EI'QUT g A 1
independent over the | inversely proportional | the same direction of a dependent on ¥ Gus Al & | faulia &9 @ |fewr & =¥or o7 | Uk TAag H
area and shape of to the normal reaction motion nature of contacting PR R TEdT & ATHATTT H PR AT & %ﬁf W TH
contacting surfaces surface gfafear & IR a8 &
o Hrgqﬁa;
2|What is the direction of frictional force against a Inclined to the object | Opposite to the object | Parallel to the object | Perpendicular to the |fF&Y arfaus & [a%g o0 |a€] & TOU 3o | 9 & HH | 9F] & AR | 9 & oF9dd | B 1
motional object? object o1 Fr feom & 82
3[Which force is directly proportional to the normal Pulling force Pushing force Frictional force Allied force Pl AT gl AT A T I & FYUT g ol &It gYuT Jol EERSUED] C 1
reaction between contacting surfaces? drg gy gfafsear & fav orfh
Jrgarfaes g2
4(Which one of the following acts in between the wheels Friction Corrosion Erosion Motion g7e, aTga HShl O delad " FeH [CTICE STdT held Q&I q A 1
and roads, if vehicles are able to run on roads? g, ar 9fedt 3k wsHht & da &
T F @ FiaT a1 FF Far g2
5|Which is useful friction? Rings in the cylinder | Crank shaft bearings Wheel hub bearings Brake shoe lining [l @1 39l g9oT 82 TelsX & Sool sheh QITTFE gfgdT g SIRer | o [ IFAX | D 1
frgiier
6|Which is wasteful friction? Rear axle gear Tyres on the floor Brake shoe lining Clutch lining FieT TT dPR YO g2 R toad R | Y W e=R S Q[ HER Fold TR A 1
7|Which depends on the frictional force? Type of metals Contact surfaes Quantity of the Quality of metals ~ [ENUT §of T e T AT AT 5?2 | 13N & ThR 9% qHE | & HUS G T3 B 1
contacting metals T AT ot
8[How co-efficient of friction is expressed? Itis expressed as the | Itis the ratio between It is the ratio between It is expressed as the gYuT o ?IUTE T b par Jg 9o 3R &7 g TYUT g gqg 9iAg Ig goreT 3R B 1
ratio of force and area | frictional force and | normal reaction and the | ratio of weight and [T 87 & AU F & | AR A@HT gfaferar 3 AT
normal reaction mass of the object normal reaction # g fhar Srar | widfhar dr | a&g T AT & | gidfhar &
J T IUIT & | ST N 3T § | AT & &
H cop foRar
AT ¥
9(What is the formula to find co-efficient of friction? TYUT & [T Pl Giolel H I D 1
FT 8?7 R
W R U F W M= M i
= FxW = M= = m = FxW p=— = =—
. S W W F W W
10|Which symbol is used to denote co-efficient of friction? o (Alpha) u (Meu) B (Beta) vy (Gamma) gYUT & IO Pl [AGAT I & o (Alpha) 1 (Meu) B (Beta) vy (Gamma) B 1

T g vdies 1 g Rar
ST &7




11[What kind of friction is called if two objects are in Sliding friction Rolling friction Static friction Angular frirction  [afe & IV faR1H & HHT HUh gdt gyor AfeleT Tyor T qs °a¥ur | SO frirction
contact at rest? H gl O g YR & u¥uT &g §2
12|Which is the correct statement? Limiting friction is equal | Rolling friction is more | Sliding friction is always | Limiting frictionis  [TGgT &l Hid @T g2 difad a¥or AfereT TyoT TT3TsaT gyor AT ayor
to sliding friction than the sliding friction | less than limiting friction |  always less than oy a¥T & | fFdeer gyor g AfAg g frarerey
sliding friction T & T AOs & |a¥or F ot & g |avor & st &
J
13|What is the formula to find the force if the object is just Ife aFg shdel A Sl IR ST
move up the plane? . - . TE & O o T ool T GF FAT )
W[Sme_(P] M w [Sln 0 +(P] W [COS 9+(p] ¥ & 1 W[Slne—(p] W[Sin9+(p] W[Sin6+(p] W[Cose+(p]
Cos ¢ Cos ¢ Sin ¢ Cos @ Cos ¢ Cos Sin @ Cos ¢
14|Which of the angle is called angle of friction? Angle - FOS Angle - ROS Angle - POS Angle - ROF g HIOT FHI GYUT HUT Fgd 7?2 F0T - FOS HIOT - HARATCH | 0T - di3ed HI0T - ROF
S\\ R
F - 0 =p
N
W 8
FRICTION g
15|What is the co-efficient of friction if the angle of friction Sin 0 Cos 0 Tan 6 Cot 8 Ife a¥or HoT 0§ A TYWUT HT Sin Cos 0 Tan 6 Cot 0
is0? [UTIH AT 872
16|What denotes the letter 'R’ in the given figure? Force Resistance Load Normal reaction [T 91T f&OF # &R 3] & &1 EEi gTaRTeT A AT Fiafshar
I g2
8
MOTION UP THE PLANE g
17|What is the purpose of a lubricant? To increase the To increase friction To reduce friction To reduce pressure |[Tigeh &1 32T T g7 ga1d Sl & fov | a¥uT FI de VU] A e gard A
pressure F faw F & fav A & v
18|What type of lubricant is used in wick feed lubrication Lub-oil Grease Coolant Cutting oil ST IS T8 JuTell H [hE a-del DI NIGGEED FIcAT ool

system?

YhR & Tigsh &1 39T har
ST &




19|Which lubrication system is provided with a ring oiler to | Gravity feed system | Pressure feed system Splash feed system Force feed system [lel AT T=igel YUTTell Teh 3O AR BIS  [GaTd BIS JOTel | TTALT IS JUTTell | T HIS JoTell
splash lub-oil continuously around the parts? del & Y YTl i S & F JUTTeIT
T $11eTt & 3TII FEIAR lub
JoT TU?
20|Which one is the three types of lubrication system in Force feed system, Velocity feed system, | Gravity feed system, Splash feed system, [HT 3TN H Toigel Yool & | AeAl WIS YOl | d9T HIS YOTeR, | I&carshyol Hrg Tl IS
general use? speed feed system, Speed feed system, force feed system, Frictional force AT 9PR T T §7 T IS JoTTe, s hig JUTTell, §ef WIS | JoTTel, TyoT
frictional feed system | Frictional feed system splash feed system system, Speed feed Yo I YoTell | WoTel, g¥uT | yomel, &9 WIS |der yomel, TS
system $IS gorelr quTTelr $Ig JoTelr
21|Which lubrication system employs oil holes in the Gravity feed system Force feed system Splash feed system Velocity feed system [lsT & FAgad GOl HMAl H del | Y&caAhy0] B3 | AT HIS YOIl | el HIS Gl | 9T HIS Jotrelr
machines? T F USHIR? JuTTell
22|What is the name of the lubrication system? Oil cup Wick feed Manual screw down Ring oiling TIgeT UUTTell T oATH 4T g2 Jol ®q IR AT Agarel 9T | Rer del o9
g
23|Which is used to reduce the friction in machine parts? Kerosine Petrol Water Lubricants AN HEN H GYUT A HH Fled &8 &1 do uerel Sie Tigh
F T frgerr 39T far Srar g2
24|Which is the main purpose of using the lubricant oil in To increase the To reduce friction To improve carrying To improve the ST SoTeT Toldl HEN & Tgdh dol | &THdT el & folT| OYUT &l & TEeT &THaT H TaiRca A
engine moving parts? efficiency capacity durability & 3YANT H 1 T 3227 & T & fow FUR F & FUR H &
25|Which is the correct statement? Lubricants acts to Lubricants acts as a | Lubricants acts as a fuel | Lubricants acts as a [GgY &= HiT IT &7 TS ST B | Td T HeT | g U & e T
prevent corrosion seal filter VFd F AT FT | F T & FF |TT HA T T et & T &
AT & g F FAT §
26(What causes the efficiency of a machine by Increases Decreases Remains same Does not affected |TAgsT & 1T WS & gRT Th godl & FHD AL | T WA g JHTIA oTal
maintaining the lubrication? AMT T &TaT FT FROT FoAar 22 T &




27|What is the name of the instrument used for il -can Automatic hydraulic - | T-handle pressure gun | Pressure grease gun |&igsT & folT 39191 fhT ST aTer d &I Ssd1  |¥ad: gISgiash - [ & §cT gard ga1d A =T
lubrication? Type pressure gun 3YEOT &7 ATH FIT g7 YR Gdld dgh Sgh
[¢]
8
5
8
3
28|Which principle of lubrication can be employed? Pressure feed system | Splash feed system Gravity feed system Force feed system [&iged & fohd gid &l Hdiaid gaTa %S Yutell | Terr B &yl B8 | A1 B3 JuTel
frar S a@ear g7 CHICT CHICT
5
g
29|Which way the coolant acts as a lubricant? To carrry away dust | To carry away the heat | To carry away mositure |To carry away dryness |[& cRg @ licielh T g & | & UeT HU Alel [IHT ¥ of S | ¥ a0 o Sl | & FEoa o
T F FE FAT 82 & v & v & faw S & fow
30[What is the force required to move a body of mass 4000 N 400 N 40 N 4N gfe GvoT q[uT 0.45 Al GedATH 4000 T 400 T 40 T 4T
1000 kg if the co-efficient of friction is 0.4 (assume 1kg 1000 KG & 2R &l aIfd eret
=10 N)? W & U TGS g FAT §
(1kg = 10 N) ?
31|What is the co-efficient of friction if a force of 30 N is 8.57 0.082 0.0857 0.0085 g 30 N & ol @l 35 KG GeIaTeT 8.57 0.082 0.0857 0.0085
required to move a body of mass 35 kg (Assume F fpdr P & of ST Hr
1kg=10N)? 3Gl glam & ar e¥or &
3[uTieh AT g(1kg = 10 N) ?
32|What is weight of an object could be moved by a force 80 kg 2430 kg 72000 kg 2400 kg gfe avor o m =0.125¢ o 80 Tehell 2430 et 72000 fohell 2400 fohell
of 30 kg if co-efficient of friction is 0.0125? fohdly g 1 IR 30KG & oo
ERT TATATIRA fRaT ST Fhal 872
33|What is the angle of inclination if a weight of 150 kg is 30° 45° 60° 90° IfE 150 KG & #AR HJeldl H ¢ 30 337 45 1330 60 T3t 90 fsaf
in equilibrium and the value of p is 0.5773? I3 mar AW 057738 ar
SIhId T HI0T FAT g2
34|How much force is required to just slide a 20 kg object 2 kg 3 kg 4 kg 5 kg I m=0.22% o &ifasl A W 2 Topell 3 Topell 4 TFen 5 fFen
lying on a horizontal table if the p is 0.2? gsr 20 KG FI TASS T &
forT fohdel dar &I TaeTSHhar gar
g2
35|What is the force required to move a 20 kg object with 4.8 kg 0.48 kg 0.048 kg 0.0048 kg 0.24 & ©YUT I[UMH & AT 20 KG 4.8 el 0.48 el 0.048 Torelt 0.0048 Tarett

a co-efficient of friction is 0.24?

TEG B o & foT 3mmaas

o FAT §?




36(What is co-efficient of friction for pulling a load of 400 0.01 0.2 0.1 0.02 40 kg 9T & 400 kg T HR 0.01 0.2 0.1 0.02
kg by a force of 40 kg? diael & fow a¥or @7 ot =T
g2
37|How much will be the co-efficient of friction for moving 0.05 0.5 0.65 0.45 Rt afas 98 9 40 kg & ol 0.05 0.5 0.65 0.45
a body of mass 80 kg by a force of 40 kg on a &RT 80 kg geTAT=T & fohar
horizontal surface? FI o I & T GY0T FT I[OTH
forderr grem?
38[How much will be the weight of a body which will be 150 kg 200 kg 250 kg 300 kg R &1 HR fhdelT glem S 0.25 150 forelr 200 forell 250 el 300 el
moved by a horizontal force of 50 kg against a & gyor gfeRIeT & fa%g 50 kg &I
frictional resistance of 0.25? SifasT 9 gRT o ST SATTe?
39|What will be the approximate angle of inclination of an 60° 45° 40° 30° T g&q I FHA $HI HFATAD 60 T33ir 45 1330 40 T30 R
object if the co-efficient of friction u=0.84? HIOT FAT 8 Fehel ¢ IS ¥oT
[T 0.848T?
40(What is the work done to move a body of mass 60 kg 12 kg 60 kg 12 m-kg 60 m-kg Ie QR dUT AT & ST °yoT 12 Tohell 60 Therr 12 #HreT-Ther 60 FHre-Thall
to a distance of 5 meters, if the co-efficient if friction 0.2 % dr gegaeT 60 kg & WK &I
between body and the plane is 0.2? 5T i gt W o I & v
FaT FF FAr ST §7
41[How much will be the work done in moving a 10 kg 1.5 m-kg 15 m-kg 0.15 m-kg 150 m-kg fohdelT A 10 AT H g & 1.5 #Hrex-frelr 15 AreX-fhell | 0.15 ArexX-fhell | 150 Hrex-fehat
object resing on a horizontal plane through a distance AETH § T 10 fohell Toh &ifcrst
of 10 meter (assume p= 0.15)? Told H resing 3R dercr # fohar
ST (TH = 0.15 HA)?
42|How much force is required to stop a vehicle of mass 3000 kg 450 kg 350 kg 400 kg CRRT 3R 8% & &g gyl & 3000 Tehell 450 TRl 350 Topell 400 Torell

1000 kg running on a road with coefficient of friction
between the tyres and the road is 0.4?

0T & HY TS W Folel dlel
GSIHATT 1000 kg F aTgsT I kel
& forw fohdel o &1 3maegehar

0.4 g 87




Name of the Trade -Workshop Calculation and Science 2" Year- NSQF - Module 2 - Centre of gravity

Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans [Level
1|Which affects the centre of gravity of the object? Weight Mass Density Shape ST aE & Ecd & g P FHTAT gofel Feepic Heled 3R B 1
AT 87
2|What is the name of the point at which all the weight of Initial point Centre of gravity Centroid Central point 39 f9g &1 7 #1 § o ) URfAS g | qecarmyo & &g hogh Heg 9eg B 1
the body concentrated? R & Tt R Shiga A
3|Where the centre of gravity of a circle lies? At its centre Any where on its Any where on its Any where onits  [U&h G & I[FcaATHNUI &HT Sg Fal 0% g H SR Aam W gah IR ¥ $ah o W A 1
radius circumference diameter eua g7 HIS S|l HIS ST HIS STRT
4|What is the centre of gravity of a right circular cone 3T YR F Uk Aol FIAR AS C 1
from its base? & qecd I he T &7
h h h h h h h h
2 3 4 5 2 3 4 5
5|What is the centre of gravity of a rectangular body? Longer side of Shorter side of At the point of At the corners AR U8 & [&cd Fl g FAT | AT & o 3T & Ol JaT | gHE fahol & PrAT H C 1
rectangle rectangle intersection of its g7 AT dh 98T g & fog W
diagonals
6|What is the centre of gravity of a solid hemisphere el o1 JMeTe & 3MUR & Jocd B 1
from its base? T g FT 87 Ar ar ar .
4r 3r 3r r — - = —
— = — — 2
4 2
7|What is the centre of gravity of a sphere? At the centre On the At the diameter At the radius e el & q&cd FH g FAT §7? Feg H IR W) =g 9T e W A 1
circumference
8|Which state of equilibrium's example is A cone restng Stable Neutral Unstable Horizontal Aol T 3eTeX0T fohd 3raeam | e Jeey IR BIGE C 1
on its tip? AP AT s 9T fasmA FHar g2
9]Which one of the following geometrical shape's centre Square Rhombus Triangle Cone o @ Fl |1 A gar TawaARIoT EEE AP C 1
of gravity lies from its base is 1/3 of its height? 3BT &1 ITcdTRyor Fg FHS
MR & f&ua g, sah 315 1/3
g7
10|Which state of equilibrium's example is, A cone resting Un-stable Neutral Stable Bothe A and B HJ el HI 3aeX0T hg 3aEqT A [HFD TE & W deey TR el THR S | C 1

on its base?

¥, T T I YR W A
T T@T 87




11|Where is the centre of gravity in 'T' section? 8.545 cm 6.65 cm 8.02 cm 7.5cm & AT A EcATHIT] HT e 8.545 QAT 6.65 GHT 8.02 {HY 7.5 Q4
Fgl 872
5
12om o
€
3em 9
2
12|What is the centre of gravity of the rectangle? (6,3) (6,6) (6,1.5) (1.5, 3) AT & IEcd HT g FAT g7 (6,3) (6,6) (6,1.5) (1.5, 3)
§
V]
o
8
N
12em g
Q
%)
2
13|What is the centre of gravity of the lamina? 1.55 cm 2.0cm 1.5cm 1.45 cm 9eoT I IEcd HT g AT 872 1.55 @AY 2.0 QT 1.5 @A 1.45 @A
€
]
g
Som g
I Q
TRIANGLE g
14|What is the centre of gravity of the object? 90.6 mm 90.0 mm 94.04 mm 89.25 mm 9cel T A&cd H g FAT o7 90.6 T&#T 90.0 &#T 94.04 &Y 89.25 f&aT

CENTRE OF GRAVITY

WSCN22L2Q14




15|What is the centre of gravity of the conical object? 42.5 mm 44.3 mm 42.3 mm 43.85 mm AG-TEG T &cd & g T 572 42.5 TR 44.3 TR 42.3 TR 43.85 TAAT
60
D ¢
) E
]
a
1
A B 2
CENTRE OF GRAVITY 2
16|What is the centre of gravity of the square? (30, 20) (20,30) (30, 30) (25, 30) gar &t Avcd T e FT g2 (30, 20) (20,30) (30, 30) (25, 30)
g
60 mm %
SQUARE 3
17|What is the centre of gravity of the cone base 10cm 10.5 cm 12.5cm 11.25 cm 12.75 cm g 3MYUR 10 cm AT Fa1g 50cm 10.5 THA 12.5 A 11.25 T 12.75 @AY
and height 50 cm? o qTcd I he T 87
N~
g
g
3
2
18|What is the centre of gravity of a semi circle of 2.24 cm 2.54cm 3.25cm 2.75cm 12 cm <A & HY g & &cd dHl 2.24 T 2.54 T 3.25 Tt 2.75 THA

diameter 12 cm?

he T 87




Name of the Trade - Workshop Calculation and Science - 2" Year NSQF - Module 3 - Area of cut out regular Surfaces and Irregular surfaces

Question OPTA OPTB OPTC OPTD Question OPT A OPTB OPTC OPTD Ans |Level
1|which formula is suitable for the area of a circle, T & &A% & ToIT il AT A 1
whose diameter is (d)? T 39g ¢, fordenr sard (D) &7 2
- d2 qF 399 d TIr 5 md
md T omrr d e mr
4 4
2|What is the circumference of a semi circle? HY g A AR F7 52 A 1
I + 2r md 2 ma” md 21T r? md®
2mr - T + 2r
4 4 4 4
3|What is the area of irregular shape by simpson's is h/3 [y, +y;+4 h/2 [y, + y7] h/3 [yo+Ya+yel hi2 [y, = y.+(y+ys)]  |Reaas & &9a grT 3ifaa@ad h/3 [y, +y,+4 h/2 [y, + y7] h/3 [y,+Yat+ysl h/2 [y, = A 1
rule? (V2+Ya+Ye)+2(ys+Ys] I T & FIT &2 (V2+Ya+Ye)+2(Ys+Ys] y7+(y+Ys)]
Y8 \a v
8
LENGTH OF BELTS %
2
4|What is the name called biggest chord of the circle? Arc Diameter Radius Diagonal Tk T I d37 919 I F4AT 36 ey dT Taepot B 1
&gl I g7
5(What is the formula for circumference of a circle? I AT AR FT FA 74T 82 C 1
\ 2 2
TTd 2 TTd
T - o1TT TTr TIr R 211 TIr
- - 4 4

WSCN23L1Q5




6|What is the formula for area of the semi circle? AT gd & SFhd & o A
FIT §?
2
2 TTr
o 1Tr2 TTr 211 TIr
g 2
- mr 2TTr TTr - 2
g 2
SEMICIRCLE 2
2
7|What is the formula for area of the circle? Fd & &A% & ol FF FT g7
| 2 T2
md
> m 2 2 md E— TTr? 21T —
_ —_— TTr mr 2 2 2
- 2
g
o
&
P4
[&]
[72]
=
8|What is the area of the irregular surface? 1400 mm? 1450 mm? 1500 mm? 1200 mm? AR B T &l FIT §7? 1400 mm? 1450 mm? 1500 mm? 1200 mm?
f
:
g
~——15mm 80mm %
2]
2
9|What is the area of the shaded portion, Egilateral 8.52 cm’ 12.75 cm? 9.5 cm? 12.25 cm? ST HIIT T &7 F4T §, 8.52 cm® 12.75 cm? 9.5 cm? 12.25 cm?

Triangle side is 6cm and circle radius is 1.5cm?

EQUILATERAL TRIANGLE

WSCN23L2Q9

weHrar ST vat 6 @ ¥ 3R
g fFsar 1.5 9+ g7




10|What is the area of the irregular surfaces? 2500 mm? 3544 mm? 3250 mm? 3444 mm? HAIHT GEI T &TBd FT 2 2500 mm? 3544 mm? 3250 mm? 3444 mm?
%,
€
£
‘ 80mm §
S
11|What is the area of the irregular surfaces? 4800 mm? 4820 mm? 4830 mm? 4843 mm? afaa C[_ET FT SThd FIT 57 4800 mm? 4820 mm? 4830 mm? 4843 mm?
€ €
€ €
8 8
100mm §
0
0
2
12|What is the area of irregular surfaces? 1350 mm? 1175 mm? 1150 mm? 1250 mm? AT BT 1 arathel FT §? 1350 mm? 1175 mm? 1150 mm? 1250 mm?
£ El £
° e 8
Smm 5mm ﬁ
50mm 5
2]
2
13|What is the length of arc of a sector, whose 40 cm 45 cm 40.8 cm 42 cm AT &9 & T HT o T 40 cm 45 cm 40.8 cm 42 cm
perimeter is 64.8cm and radius is 12.4 cm? g, Sadr aRfr 64.8cm g 3R
BT 12.4cm g2
14|What is the length of arc of the sector whose radius 7.85cm 7.25cm 6.75cm 6.85cm 30 AFcX & dIY dl odls T 7.85cm 7.25cm 6.75cm 6.85 cm
is 15 cm and the intended angle is 30°? g foraehr B=ar 15 cm g 3R
fAYT Hror 30 33l 872
15|What is the area of the sector, if the diameter is 12 18.0 cm? 17.75 cm? 19.00 cm? 18.84 cm® gfg =8 12 cm @ 3R FI0T 60 18.0 cm? 17.75 cm? 19.00 cm? 18.84 cm?

cm and the angle is 60°?

23 § ar 59 &9 &7 &%
FIT §?




16|What is the formula for area of the segment of a Area of the sector - Avrea of the circle Area of the sector | Area of the triangle - [gd & @S & &9 & T I Qe & ST - EICAIGE] Qared & &1 EcaiEn]
circle? Area of the triangle Area of the sector  |&aT &7 TARIT FT S THT TP - HFeX
FT STH
g
g
2
3
17|What is the area of the circle, if the circumference of 128 cm? 130 cm? 154 cm? 129 cm? Ifg g Fr aRTT 44 cmg 128 cm? 130 cm? 154 cm? 129 cm?
the circle is 44cm? FT HT GG FAT §?
18|What is the area of the irregular surfaces? 2600 unit? 2590 unit? 2625 unit? 2620 unit? ;ﬁ'qﬁ?f AR T &G T 2600 unit? 2590 unit? 2625 unit? 2620 unit?
?
18
I
* 100 g
19(What is the area of the irregular surfaces? 4200 4300 4500 4400 HAITAT GBI &1 &1TB FT g2 4200 4300 4500 4400
Il Ll L Il % L
[ [
90 %
7]
:
20|What is the radius of the circle if the angle of sector 15.77 cm 15cm 14.85 cm 14.95 cm 15.77 cm 15cm 14.85 cm 14.95 cm

is 90° and the area of the circle is 196cm??

g AT &l 1T 90 2l §
3R

T HT SFH 196 cm
ar ga fr B =4 g2




21

21+

|+ 2r

e & T aRkTe &1 = &

21+r

|+ 2r

- : 5
What is the formula for perimeter of a sector? 1TI“2 27T r A 'ITFZ 21T r
]
2
22|What is the area of conical object? 5100 mm? 5120 mm? 5125 mm? 5158.8 mm? A-TEG T STl FT 572 5100 mm? 5120 mm? 5125 mm? 5158.8 mm?
60
D c
§
A B §
H
23|What is the area of the lamina? 14,800 mm? 14,600 mm? 14,650 mm? 14,750 mm? qCel T &ABA FIAT g2 14,800 mm? 14,600 mm? 14,650 mm? 14,750 mm?
50 160
:
z
T H
24|What is the area of the sector, whose diameter is 40 418.66 mm? 400.50 mm? 415.5 mm? 416.6 mm? 3H &1 1 &1Fthel FT g, ToTeehl 418.66 mm? 400.50 mm? 415.5 mm? 416.6 mm?’
mm and angle is 120°? I1E 40mm 3R &rer 120 By
272
25|What is the length of arc of a sector, whose radius is 9.75cm 9.8 cm 10.60 cm 10.4 cm O &3 & T fq F—IEI'Ié 2N 9.75cm 9.8 cm 10.60 cm 10.4 cm
15 cm and angle is 40°? g, Sgdhr 3=ar 15 cm 3T T
40 T390 g2
26|What is the length of arc of a sector whose radius is 2.10 cm 2.26 cm 22.6 cm 21.0cm AT &9 & T HT oas FIT ¢ 2.10 cm 2.26 cm 22.6 cm 21.0cm

3.6 cm and angle is 36°?

Srghr =T 3.6cm 3R 0T 36
2afr &7




27|What is the area of the surface? 1750 mm? 1775 mm? 1805 mm? 2600 mm® Y I Aol FAT 2 1750 mm? 1775 mm? 1805 mm? 2600 mm?
20mm
40mm E g
8
50mm %
r 1 g
28|What is the name of the shaded portion? Segment Sector Arc Chord SIIhd HET T ATH T g7 s E g a1
|/
2
29|Which line is called as chord? ED AB oD OE Pt T ST P AT T ST ED AB oD OE
g7
ic
_ 0‘ _
D 3
E g
3
H
30(What is the area of the circle, whose diameter is 50 1900 cm? 1950 cm® 1962.5 cm® 1960 cm? g @I &l FAT &, [STEehT 1900 cm? 1950 cm? 1962.5 cm’ 1960 cm”
cm? =g 50 cm §?
31|What is the name of the region of a circle between Arc Segment Sector Chord gRfY o et oY ar F Arc Segment Sector Chord
any two point on the circumference? T TH G F 8T FH ATH FIT
g2
32|What is the radius of the circle, whose 71.5cm 70 cm 70.5cm 72.2 cm Jd F FodT FAT g, ToranT 71.5cm 70 cm 70.5 cm 72.2cm
circumference is 440 cm? aRf&r 440cm &2
33|What is the area of a circular surface if the radius is 615.44 cm? 614.5 cm? 612.25 cm? 612.44 cm? Ife 321 14cm g ol R 615.44 cm? 614.5 cm? 612.25 cm? 612.44 cm?
14 cm? 9S HT &A% FAT 87
34(What is the circumference of a circle whose 22 cm 44 cm 25cm 21 cm 5l $r ok w27 § o g 22 cm 44 cm 25¢cm 21cm

diameter is 7 cm?

=g 7 cm g?




35|What is the radius of a circle whose diameter is 44 44 cm 22 cm 23 cm 20 cm Jd FT FodT FAT § TordeT 44 cm 22 cm 23 cm 20 cm
cm? =g 44cm g2
36|What is the diameter of the circle, if the area of the 5cm 10 cm 15cm 5.5cm Ife Jq H &9%e 78.5cm2g, ar 5cm 10 cm 15cm 5.5cm
circle is 78.5cm?? Jd FI AT FIT g2
37|What is the area of the circle if the radius is 10cm? 314 cm? 31.4 cm? 30.4 cm? 3.14 cm? gfg Bsar 10cmeg @ 37 & 314 cm? 31.4 cm? 30.4 cm? 3.14 cm?
Thel FIT g7
38|What is the radius of the semicircle, if the 5.49 cm 6.49 cm 8.5cm 8.75 cm fg 3899a A IR 28.26 cm 5.49 cm 6.49 cm 8.5cm 8.75 cm
circumference of the semicirle is 28.26 cm? g ar 3rtiga fr B =4 g2
39|What is the diameter of the semicircle, if the 8.55 cm 8 cm 7.55 cm 7cm Tfg g & aRfe 21.98 93 8.55 cm 8.cm 7.55 cm 7 cm
circumference of the semicircle is 21.98 cm? g, ar 3rtfad &1 eI AT B2
40|What is the area of the semicircle, if the diameter is 70 cm? 76.93 cm? 75.06 cm? 86.93 cm? i =g l4cm g dF 3reqgd & 70 cm? 76.93 cm? 75.06 cm? 86.93 cm?
14 cm? STl FIT §?
41(What is the diameter of the circle, if the area of the 29cm 29.5cm 30cm 30.5cm Ife Jq H &9%e 706.5cm>g, 29 cm 29.5cm 30 cm 30.5cm
circle is 706.5cm?? ar I HT A FAT §?
42|What is the diameter of the circle, if the 5cm 10 cm 8 cm 8.5 cm fg oY 31.4cmE & g &1 5cm 10 cm 8 cm 8.5 cm
circumference is 31.4 cm? =g & 87
43|What is the area of the lamina? 1470.55 1473.66 1472 1472.5 <ol I &%l AT %’? 1470.55 1473.66 1472 1472.5
"
% 3
P4
)
3
44|What is the area of the irregular lamina? 550 cm? 549.76 cm? 560 cm? 555 cm? IAIAT geoT T STl FAT 550 cm? 549.76 cm?> 560 cm? 555 cm?

28cm

50em X 12em

WSCN23L2Q8 44




45|What is the area of the lamina? 125.5 cm? 120.5 cm? 127.5 cm? 126.5 cm? TCel T &I FT 572 125.5 cm? 120.5 cm? 127.5 cm? 126.5 cm?
ci,
D = - E E
: e
A 15¢m B §
} 1 ;
46(What is the area of irregular surfaces? 27,475 mm? 27,500 mm? 27,350 mm? 26,500 mm? HAATAT GBT & &bl FAT 572 27,475 mm? 27,500 mm? 27,350 mm? 26,500 mm?
&
g
3
H
47|What is the area of shaded portion whose OD = 38 325.4 mm? 329.7 mm? 305.5 mm? 320.5 mm? BITThd 19T I &A%l T ¢ 325.4 mm? 329.7 mm? 305.5 mm? 320.5 mm?
mm, ID = 32 mm? S ger OD - 38 f&, ID - 32
A
o]
b =~
g
4
8
E
48|What is the area of irregular surfaces whose 3000 mm? 3080 mm? 3026.8 mm? 3060 mm? sfaaf@a ader &1 ag aF%d 3000 mm? 3080 mm? 3026.8 mm? 3060 mm?

equilateral triangle size is 20 mm?

V

20 mm

-

40 mm

80 mm

WECN231L2048

a1 ¢ g gAerg Feor
3SR 20 mm §?




49(What is the area of shaded portion. Whose square 58,000 mm? 58,400 mm> 59,000 mm? 58,600 mm?’ IAIfhd 7T T &1 T gl 58,000 mm? 58,400 mm> 59,000 mm? 58,600 mm?>
size 300mm? TSgeT g97 3R 300mm?
&
100 8
3
H
50(What is the area of shaded portion? 1000 mm? 1500 mm? 1100 mm? 1075 mm? BT HTIT 1 &TThel T g7 1000 mm? 1500 mm? 1100 mm? 1075 mm?

50mm

WECN23L2Q50




Name of the Trade - Workshop Calculation and Science - 2" Year NSQF - Module 4 - Algebra

Question OPTA OPT B OPTC OPTD Question OPTA OPTB OPTC OPTD Ans |Level
1|What is the value of 14x+3y+25x+2y? 17x + 27y 16x + 28y 39x + by 44xy 14x +3y+25x+2y HT AT FAT g2 17x + 27y 16x + 28y 39x + 5y 44xy C 1
2|What is the multiplication value of 5a°b x 8a°b>? 40a'v* 40a’n’ 40a'p’ 40a%p° 5a’b x 8a°b & VA AT FAT 40a'p* 40a%? 40a'p’ 40a%° Al 1

g2
3|What is the simplified value of 5/3 3/5 -5/3 -3/5 FT ATelipd Hed FT § 5/3 3/5 -5/3 -3/5 B 1
3x + 15 3x + 15
= 722 5 e
5x + 25 5x + 25
4|What is the value of x if 13+x =20? 8 7 9 13 ;ﬁ( 13+x=20§ o X &I AT FT 8 7 9 13 B 1
?
5|What is the value of x, if x (120) = 960? 6 7 8 10 IfE x.120 =960 8, O x T AT 6 7 8 10 C 1
FT 87
6|What is the formula for a"x a"? a™n" a™" a™ n.a™ aMy g" T [T wien 3 & a™m" a™" a™ n.a™ A 1
7|Which is the formula for amtn amn gmxn @m" @il O 9T ¢ ammn am" aman @m" B 1
m
m
a > L'_)
an an
8|What is the value of any number raised to the power of 0 1 -1 o 0T aTd & 3aTT 1T el off 0 1 -1 a B 1
0? HEAT & Ao FAT §72
9(What is the value of am am Mg am FT AT FAT g am am ma aym B 1
1 1
? ?
al alm
10|which is equal to (@™)"? am " ant’ am’" am™ (@™" frash sRTEY & | am” am" amn a™ D 1
11|What is the expanded form of (a+b)?? a’ + 2ab + b? a?-2ab +b? a?+2ab - b° -a?-2ab +b? 2 F1 TawARA ¥ T2 §2 a’ + 2ab + b? a?-2ab + b? a?+2ab-b® | -a®-2ab+b? | A 1

(a+b)




12|What is the formula for (a-b)?? a?-2ab + b? a?+2ab + b? a?-2ab - b* -a?-2ab - b? (a-b)® T I FAT §? a?-2ab +b? a’ + 2ab + b? a?-2ab-b® | -a’-2ab-b?
13|Which is equal to (a+b)*(a-b)*? 2ab 3ab 4ab 5ab (a+b)*-(a-b)? & SRT&T HieT @T 2ab 3ab 4ab Sab
g2
14{what is the value of a x a®x a®x a*? a’ a® a’ a* axa’xa’xa’ &1 A FT §? a’ a® a’ a*
15|What is the value of (a°)’? a* a’? a? a% @) & AT FT §? a*® a’? a? a%
16|what is the value of 625°? 0 1 525 25 625°? T HTT FAT &2 0 1 525 25
17(What is the value of a® a® 5a -5a 1 I AW AT g2 a° a® 5a -5a
1 a
?

- 5

18(What is the value of 5x 5x2 X Sy43 o4 T HI F;T &2 5x 5x> X 5x3
3
5x 4 5x
2

5x 3

19|What is the subtracted value of  3x - 4x* +2y” from 2y* - 5x + 12%° 2y° + 5x -12x° 2y? - 5x -12%° -2y% -5x + 12x° -4 +2y° B A 4y*-2x+8x° | 2y°-5x+12x° | 2y? +5x-12x° | 2y*-5x-12x° | -2y®-5x + 12%°
4y?-2x + 8x2? FI G W AT F4T g7
20|What is the value of adding (5x+2y), (4x - 7z) and (15z 9x -y + 8z X -9y + 8z X+ 9y + 8z X +y-8z (5x + 2y), (4x - 7z) AR (15z - 3y) 9x -y + 8z X -9y + 8z X+ 9y + 8z Ix +y-8z
- 3y)? S W AT 4T 82
21{what is the value of 12x°y*/ 4x%y? 8xy 16xy 3xy -3xy 12x3%y? [ 4x%y T AT FAT &2 8xy 16xy 3xy -3xy
22|What is the value of x, if 3 (2x - 4) = -4x + 287 4 8 6 12 §(2x -4) = -4x + 28 X ST AT FAT 4 8 6 12
?

23|What is the value of x if 38 33 35 36 gfe, aF X F7 A &1 ¢ 38 33 35 36

X+2 X+2

197 —=19?

2 2

24|What is the value of x if 11x+4=377? 2 3 4 5 gfe 11x+4=37, @ X & AT &7 2 3 4 5

&2




25|What is the value of 1/a™? a a Va™ a 1/a™ &7 AT AT §? a a Va™ a
26|What is the value of a™"? a™" &1 AT FT E?
1 1
am -n am +n E— n\/am am-n am+n e n\/am
am am
27|Which is the expansion of a° + b%? (a-b) (a% + b? - ab) (a+b) (a® + b? - ab) a® + b? + 3ab (a+b) a®- b* + 3ab (a-h) a® + b FT AT FT &7 (a-b) (@2 +b%-ab) | (a+b) (@%+b?*- | a®+b*+3ab | a®-b’+3ab
ab) (a+h) (a-h)
28|What is the expansion of (a+b+c)?? a’+b%+c?+ 2 (ab+bc+ | a’+b*+c?-2ab+2bc |a’+b%+c?+2ab-2bc |a®-b%-c?+ 2ab + 2bc + |(a+b+c)? T AT FAT §? a?+b’+c*+2 (@b | a?+b’+c?- a’+b*+c?+ | a?-b%-c*+
ca) + 2ca + 2ca 2ca + bc + ca) 2ab + 2bc + 2ca | 2ab - 2bc + 2ca | 2ab + 2bc +
2ca

29|Which is expanded form of a® b3? (a+b) (a® - b? - ab) (a-b) (a% + b® + ab) (a-b) (a® - b? - ab) (a-b) (@%-b%+ab) |a’ biar AT FAT B2 (a+b) (@ - b%-ab) | (a-b) (@%+ b+ | (a-b) (@%*-b*- |(a-b) (@*-b*+
ab) ab) ab)
30|What is the value of 8 -8 27 27 63 oI AT FIT &7 8 -8 27 27
63 ) (-3
=
(-3)

31{what is the value of x*-y? if (x+y) = 9, (x - y) = 4? 13 65 36 46 x2-y? &1 AT F241 g, Il 13 65 36 46
(x+y) =9, (x-y) =4?

32|What is the value of 'X'if x-y =6 and x +y=8? 5 6 7 14 Ifg x-y=63R x+y=8,ar X 5 6 7 14
FT AT FAT &7

33|What is the value of a®+b? if a+b=9 and ab = 20? 121 -121 41 -41 a’+b? & AT FaT & , I 121 -121 41 -41
a+b=9 and ab = 20?

34|what is the value of ab if (a+b)?=36 (a-b)?=24? 6 4 3 2 ab &1 A T § , TS 6 4 3 2
(a+b)®=36 (a-h)?=24?

35|what is the value of x>+3y*x? if x=3, y=2? 135 81 54 63 X+3y>C @ A &1 § , I 135 81 54 63
x=3, y=27?

36|What are the three consecutive numbers if there sum 11,12,13 12,13,14 13,14,15 14,15,16 TIMAR disT GE&IATT FAT gI9NT 11,12,13 12,13,14 13,14,15 14,15,16

is 427

ST S5 42 &7




Name of the Trade - Workshop Calculation and Science 2" Year- NSQF - Module 5 - Elasticity

# Question OPTA OPTB OPTC OPTD Question OPT A OPTB OPTC OPTD Ans Level
1|Which is elastic material? Nylon Polystyrenes Celluloid Polycarbonates  [3o1d & HIA-AT oldGR ATHT g7 ATl Tl EeR—RRed IREICIES qlellhaiaicd A 1
2|Which is thermo plastic material? Butyl rubber Nylon Neoprene Vinyl polymers |35 & HIA-AT AT Tolliech EGECIECT AT elleT o ICCIECISICItaEY D 1

AT 87
3|What is the maximum percentage of stretch of its 100% 200% 300% 400% AraeR ATHAT & fow g8 Hd 100% 200% 300% 400% C 1
original length is allowable for elastic materials? TS FT e ufaerd T
e g2
4|What is the ratio between the change in dimension to Stress Strain Poisson's ratio Factor of safety  [Tohell a&q & 3MATH A IR EIGEC] [ECAG] AT E 37 9Td gI&Tl 0T B 1
its original dimension of the substance? 3R Fqel HATH & 9T Y
g 62
5|What is the unit of strain? Kg/cm? Newton/metre? Metre No unit T &1 ghrg T 82 raTHASH R TAFT FHrex ZhIZ el gl D 1
6|What is the ratio of change in length to original Linear strain Lateral strain Volumetric strain Poisson's ratio  |ef#aTg H IRdd 3R Hd 3gord fagia areg fafa 3Ide [dpfa 9T 3] 9Td A 1
length? SFITS & AU T FAT Fgd
82
7|What is the ratio between lateral strain and Hooks law Young's modulus Bulk modulus Poisson's ratio  [d1d faspfad 3R refes fapfa gF s I AR TG ATIH A8 3 9Td D 1
longitudinal strain? & 3IUTT BT AT FHgd 872
8[Which symbol is used to express change in length? L 3l e TS A IRade P fohd Tehd L 3l e B 1
¥ T ST §?
9|Which one is the ratio of stress? Load and area Load and direction | Load and diameter Load and time A A gidad &1 39d diet- s 3R &Fwd s 3R feem iz 3R = s 3R @ A 1
ar g?
10|Which force acts on rivets? Tensile force Compressive force Shear force Bending force FiA-TT § Rdgd W) FR AT GGICECE] gEdsd aof EREIEG Zhrd el C 1

&2




11|Which type of stress? Tensile stress Compressive stress Shear stress Torsional stress  |[&l-aT Yideel 87 SCICICIGEG] FFEisT Tiaed EREIEIGEG! T s
7
]
g
3
g
12|What is the formula for bulk modulus? Tensile stress/Tensile Compressive Volumetric Shear stress/Shear |desh AR HI A g7 REICIIGERIGGIE] gFEqiseT HIdeT E R GIIGERIETG
strain stress/Compressive | stress/Volumetric strain [EEaGH EIGCCIAESIEC gfaere/3maas fapfa
strain strain [EEaG] IEEAG]
13|Which law states that within elastic limit stress is Newtons law Hooks law Joules law Charles law FieT-A1 97 Forem g T g & A g§F & oA o & qel HI HAAH
directly proportional to strain? JeATEIAT AT & 376X gfded,
fagpfa & FaAgaTd grar &2
14|What is the name of the point 'C'? Yield point Elastic limit Ultimate load Fracture = # Tdeg 'C' &)1 gATdT 8?2 EREICIEC- TCITEIT TYAT WA A3 et
8
[} 5
ELONGATION g
CURVE SHOWING RELATIONSHIP BETWEEN LOAD AND ELONGATION §
15|What is the term used for maximum stress attained Tensile stress Compressive stress Working stress Ultimate stress  [¢ea & 9gel Teh ATHIAT gRT RGICIEIGER] gEdisT gfasd FRIFRT gfasd EGLICIGEG
by a material before rupture? gred 3R adH dad & fow
e ereg &1 39T fHar Srar
g2
16(What is the ratio between ultimate stress to working Bulk modulus Young's modulus Factor of safety Modulus of rigidity |[3Tad® gfdad ¥ HFRIGRT Foh HUTH 4T AR JI&T I[UTh Tedr BIUTiE
stress? gfcieel & 3e]UTel T el
g2
17(What is the ratio of ultimate load to area of original Factor of safety Yield point Ultimate stress Youngs modulus  [3=IdH &5 A HdA NI HI&T VTR W fdeg ESECOIEEA 3T AT

cross section?

& Athel hl 3] Hld FAT Shgolldl

87




18|What doe the point 'b' denotes in the stress-strain Elastic limit Yield point Limit of proportionality Ultimate load gided-lagia I & b Fr TeITEAdT HIAT WA fdeg e uTicieh HIAT 3Tddd dig
graph? geltar g7
g
o S
ELONGATION §
CURVE SHOWING RELATIONSHIP BETWEEN LOAD AND ELONGATION g
19|What is the ratio of shear stress to shear strain? Modulus of elasticity | Modulus of rigidity Bulk modulus Yield point e gfdeer 3R =RaEr Tl AR TEdT HTH Toh HTTH WA foeg
AT & 3f7UTT &1 AT FHgd
g7
20|What is the ratio between stress and strain? Yield point Factor of safety Youngs Modulus Poisson's ratio  [9fdsel 3R Taspfal & 3regara EREICIEC: I&T 0T Ja7 AT R 3] aTd
T Fgd 82
21|Which force acts on crank shaft? Shear stress Torsional stress Tensile stress Compressive stress |PIA-HT S sheh TP TR HA NPrCIGEG A giaed 3gerFd gideel grdisd yfaed
FXAT 872
22|Which is thermosetting plastic? Vinyl polymers Polystyrenes Celluloid Melamine resins |38 & lI-AT YATATEAT EEIECIRIGIEEY Tl EeRRe" B RICIES HolTATS Ioled
confeesd g2
23|What force will be required to punch a hole of 10mm 1757 N 1575 N 1571.4 N 1577 N 1 T, Aerg arelr Teic # 10 1757 #ge< 1575 #ge= 1571.4 =g 1577 #gg
dia in a 1 mm thick plate, if the allowable shear Y. sarg e g [erea
stress is 50N/mm?? (11 = 22/7) & foIT 3maeas o A1 A0
H, Ife Tore a1 iR ufdeer
50N/mm?? (11 = 22/7) &2
24|What is the tensile stress if a square rod of 10mm 1 kg/mm? 10 kg /mm? 100 kg/mm? 1000 kg/mm?  |TTe 10 e B T AR S5 | 1 Recm/fAe’ | 10 freeme/AEr | 100 Rreema/fA? (1000 frdrmE/mae?
side is tested for a tensile load of 1000 kg? T gUETOT 1000 fFeme &
dera ois & forw fohar S &,
A Iea ufdse AT |
25|What is the tensile strain if a force of 3.2 KN is 0.0001786 0.0001687 0.0001867 0.0001968 DS Tr (_‘»‘I?-_&l'lé' 2800 A= %’I 0.0001786 0.0001687 0.0001867 0.0001968
applied to a bar of original length 2800 mm extends afg 3.2 el sgea & aaf
the bar by 0.5 mm? AT ST &, fOad 5|y
oFaTs 0.5 fAFY s Sy &, ar
39T dard aefa ara fifae?
26{How much strain is developed in an iron rod of 1 0.1 0.01 0.001 0.0001 g I B3 HT el 1 A 0.1 0.01 0.001 0.0001

metre length gets elongated by 1 cm, if a force of
100 kg is applied at one end?

2l I 100 frelam® & oo
AT ST &, dF &8 F oS
1T Je AT g A S H
frae fagpfa faefaa fFar
ST 87




27|What is the youngs modulus if a wire of 2m long, 0.8 1.25 kg/mm? 12.5 kg /mm? 125 kg/mm? 12500 kg/mm?  |3f¢ T AR 2 #eX o, 0.8 1.25 kg/mm? 12.5 kg /mm? 125 kg/mm? 12500 kg/mm?
mm?in cross section increases its length by 1.6 mm A s A § 3T 8
on suspension of 8 kg weight from it? Thellamd OR & AeFad W
1.6 TA#Y 5 ST §, ar 3
3T AMS AT H
28|What is the safe stress if the ultimate stess of a 0.143 0.7 1.43 7 Ifg ITaar gfded 35 0.143 0.7 1.43 7
material is 35 kg/mm? and factor of safety is 5? fraiama/fAe’ & 3R gam
3[uTieh 5 8, @ gIfad gfdeer
AT A
29|Which type of stress? Tensile stress Compressive stress Shear stress Torsional stress  |[SHH II-AT Yiddel o<l & g2 RCICICIGEG] FFAET Ulded  |ddd (R) Iideel| <RI diaeel

|

WEOGN26L1Q29




Name of the Trade - Workshop Calculation and Science - 2" Year NSQF - Module 6 - Heat Treatment

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans [Level
1|What are the various types of heat treatment Annealing, Normalising, Heating, | Hardening, Soaking, | Tempering, Cooling, |[f#wsl FTAT 3UaR UfhdTT AT | TAfeT, . | TS, TR, | gEiaer, AT, SFIRaT, el A 1
processes? Normalising, Cooling and Painting | Painting and Packing | Packing and Solling |[&? grsfaar 3tk daRer Ffofer, 9far gfear, dfher Yfhar, |iforer
Hardening and
Tempering
2|What is the process of heat treatment? The process of heating | The process of heating The process of The process of FSAT 3UTR &Y UThadT FT 87 AT R ION F (AT T ool & | AT T AGed (AR ERISA | A 1
and cooling to change to change the cooling to measure | heating and bending Seoa & faw @ifcar |faw @ifdar & gfsrar| & fow gfer & | & 34?3’?"? éﬁ%?T
the structure and dimensions the dimensions  |as per our requirement 3R gfeler & ufsrar gfehar iR
properties
3|What are the various stages of heat treatment? | Heating, Cooling and | Quenching, Cooling | Heating, Soaking and | Soaking, Quenching [StAT 3UaR & fafflet =T a1 | @1fer, Hicler AR | Fafer, Fiower AR | @far, feher 3R [@fehar, F=RT AR | C 1
Quenching and Heating Quenching and Cooling g7 FARIT gifear FIRIT Ffeler
4|What is the name of the structure formed, if a Cementide Austenite Martensite Ferrite 39 T & ATH &7 g, Iie, HHerse TS AcATISC e B 1
steel is heated for about 723°C? TS FT 723°C IR I fHmar
ST 87
5|Which heat treatment process is done to refine Annealing Normalising Hardening Tempering T F IoT TIAAT Dl RPISA TeATTodT ATA TS oI grsfaar SFgRaT B 1
the grain structure of the steel? FT & T i FsAT 3R
gfeRar &I ST 872
6|What is the name of heat treatment process Normalising Annealing Hardening Tempering fapfa 3R gfded T A & ATH TS STl TaATToreT REGEL TFaRaT B 1
done to relieve strain and stress? T fPT = arel FSAT 3UAR
gfeRaT I ATH F4T 87
7|Which process produce equilibrium conditions? Annealing and Normalising and Annealing and Normalising and  [l=f-&Y fshadT Aol &1 RRAfd | wehifeisr 3R grsfaer | aAteemsfisir AR Teflferar 3R ATHegoTT 3R C 1
Hardening Tempering Normalising Tempering CARCTG | SFgTiar BIECISTE) [ IEL)
8[Which process steel is heated in a carbonaceous Case hardening Nitriding Carburising Induction hardening [FTeieT & Fa2T & ToIT Hreiad e RGN Arseraisar EACRESED) SUSHAA g8l | C 1
atmosphere for the penetration of carbon? IraTEaRoT H Si-ar gfshar Trer
& I fRar Srar g2
9|Which is the suitable nitriding process for all Silver nitriding Nitriding in salt-bath | Nitriding in Quenching Gas nitriding Y 3188 AR 3eTliss Kol TqoaR ABesizT dlee 1T A FATT S H AT A5z B 1
alloyed and unalloyed steels? tank & fow sla-8 3ugad Asrataer Arsersiser
aTsgrsfser ufhar g7
10|What is the name of the heat treatment process, Hardening Normalising and Annealing Tempering SSAT 3UTR YThAT T ATH F4T grsfaer Alees ol AR Tatiferar SFEIRT A 1
where the metal is heated and quenched in Tempering g, Stel a1q &1 aH fhar Smar § EFaRar
water or oil? AR el @ A9 F g3 S
27
11{Which is a kind of surface hardening process? Cementide Ferrite Nitriding Tempering PIA-HT TAG FISTAIT UichAT ST HHerss T EIEEIED CHIRET C 1
T 87
12|How much time is allowed normally in soaking 5 minutes 10 minutes 15 minutes 20 minutes gl ad AT 10 A A 5 Aelc 10 Ae1e 15 fAe1e 20 [Aeie A 1

zone for a 10mm thick metal piece while
hardening?

ug & g@s & fov Afdar ST
H O & T R 87T
oITaT 87




What is colour of a metal piece when heated to Blue Brown Purple Pale SFIRAT UTehaT ala 98T Ueh e qa Eoci drer
250°C while doing the tempering process? U & g H 250°C W IH
forar e g, ar 39 u1g & g
HT T AT gRIM?

)

2
ap
o)

What is the purpose of tempering a steel? To reduce the To remove the ductility To increase the To increase the TS P CFIRAT el HI FAT HIIAT H FA | SFC

Tl & | HORAT 96l & |HIIA d¢l & [aT
brittleness hardness brittleness 3227 g7 Gy

fow

2




Name of the Trade - Workshop Calculation and Science - 2" Year NSQF - Module 7 - Profit and Loss

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans |Level
1|What is discount? Selling price is less than | Selling price is greater | The reduction given to Selling price + CRERIEG faha feg, amrd | fashg Hed, aerd | fRE 3c0e % g Heg +981 | C 1
Cost price than Cost price the selling price of a discount AT W HA G AT d AOs § | Rpag qea d &
product STel aTell Qe
2|What is a profit? Selling price - Cost price | Cost price - Selling price| Selling price + Cost | Cost price + Selling [TeT =T §? AFT HeI -5 |[FT HA -TAhd | Qg A -7 |[FT HI -Tawa | A 1
price price Hed He Hed Hed
3|What is the term, if an article is purchased? Selling price Cost price Margin price Discount price eG FT g, 3R dhig o Tl fasg Hed ST Hed BIEl'IT:?Qﬁ Hed 8T Hed B 1
ST 87
4|What is the expanded form of S.P? Selected Price Special Price Selling Price Super Price . dT. (S.P) &I a¥qgd &9 &1 g7 Holdes wsH TUST IISH e usa g 9y C 1
5|Which is the short form of profit and loss P&L PR &LS PRO & LOS L&P gifthe UUS ol TecHT &l Tiared P&L PR&LS PRO & LOS L&P A 1
statement? & FIT §?
6|What is denoted as 'I'? Principal Interest Rate Year IS (1) fhaer AwRa aar g2 EIGEE R T W B 1
7|How the 'Principal' is denoted in simple P [ R' n' ATYRUT sO1 H AT &l ol P [ R' n' A 1
interest calculation? TG ¥ &d fhar ST &2
8|What is the formula for the calculation of HIURUT sA1ST YTed el &l g3 1 A 1
simple interest? ?
P Pnr 100 Pxr | Pxn ¥ I_Pnr | 100 | Pxr P xn
9|What is the formula for compound interest, if Tehdlg ST T FA FAT g 3l C 1
compounded Annually? TS aivs @Afada g2
2n 4n n Pnr o
_pl i AL ol ) r - ol 1 i Al (T Pnr
A_P{hz(looﬂ andCl=A-P A_P{1+4(100H andCl=A-P P{Hloo} andC.l =A-P 100 AJ{ME[EH andCl=A-P AZP{“Z[@H andCl =A-P p[hm} andCJl =A-P :ﬁ
10{How the years is denoted in simple interest P [ n r HTERUT ST H AT T Ha AT P [ n r c 1
calculations? ST 87
11[How the profit / gain is expressed? z $ % * AH HY qFd [haAT AT g2 z $ % * C 1




12|What is the formula to find Loss%? % BTfel AT Xl T I FAT g7
Loss x 100 C.P Loss + 100 S.P Loss x100 __¢cpP Loss + 100 S.P
CP Loss X 100 T sp Loss + 100 C.P Loss x100 S.P Loss +100
13|What is the cost price (C.P) formula if there FT Hed ATd el A g F1 ¢,
is a profit? 100 100 + Prof e o g3 e 0 100 100+ Profiot 100- Loss¥
+Prof -LossY 1 +Profi -Loss
A0 ) sp = |ysp | [ 2RO b 100-Losst ) o p ——— _IxsP () XSP ("} xCP | | =22 ycp
100- Loss% 100 + Profit% 100 100 100- Loss% 100 + Profitte 100 100

14

What is the formula to find selling price
(S.P) if there is a loss?

T Hed AT el H FA 4§,
afe; gifel g 3n gr?

100 100 + Profit% 100 100- Loss% -
| xspP T xep (—0 XS.P it IOY 100 <SP 100 + Profit% <CP 100 XSP 100 - Loss% <P
100 + Profitts 100 100-Loss% 100 100 + Profitth 100 " | | 100-Loss% 100 '
15|What is the formula to find Profit%? % ST AT el FA AT g7
C.P Profit SP-CP Profit c.p i ] Profit
_ x100 X100 > T 4100 X100 — Profit 100 | SP-CP 100 X100
Profit Profit rofit Profit
16|What is the profit amount, if the i - phone Rs. 2000/- Rs. 10000/- Rs. 20000/- Rs. 50000/- ST T g, Tl U S-Sl Rs. 2000/- Rs. 10000/- Rs. 20000/- Rs. 50000/-
cost price is Rs.50000/- and selling price is %.7, Rs.50000/- g1 3.7, Rs.70000/-
Rs.70000/-? g2
17|What is the selling price, if the profit is 5% 1160 1620 1060 1260 T Ao &1 grem, et 1160 1620 1060 1260
for a computer table bought at Rs.1150/- FFYN T FH TG 7ol
with Rs.50/- as a transport charge? Rs.1150/- T&ar gRkagel Yeh Rs.50/-
¥ 3R Ao arem o 5% §?
18|What is the cost price if the product is sold X500 % 1000 3644 X472 HI Hed 1 grem, Ifg 3curg &t X X500 %1000 3644 X472
at # 572 with a profit of = 72? 572 & &4 4T 3R 39 W Fe=r
Jrelr ST X 7287
19|What is the profit % if the cost price of 16 13.33 23.33 33.33 43.33 % ST T e, i 16 dtec &l 13.33% 23.33% 33.33% 43.33%
bolts is equal to the selling price of 12 bolts? FT Hed, 12 dec & [OFhT eI &
TR g2
20|What is the selling price if the cost price is Rs.7074 Rs.7698 Rs.7290 Rs.7490 EERT Hed &A1 g, IS oy Hed Rs.7074 Rs.7698 Rs.7290 Rs.7490
Rs.7282/- with a profit of Rs.208? Rs.7282/- 2T o Rs.208/- &7
21|What is the interest earned, if the principal Rs.2600 Rs.3600 Rs.4600 Rs.5600 TTROT SATST AT gieT, Jle Rs.2600 Rs.3600 Rs.4600 Rs.5600
is Rs.12000/- becomes to an amount of Rs.12000/- FT &= {2, Rs.15600/-
Rs.15600/-? IoT ST §?
22|What is the principal amount deposited, if Rs.31000/- Rs.19000/- Rs.20000/- Rs.25000/- fRsrersT aar g, afe o Rs.31000/- Rs.19000/- Rs.20000/- Rs.25000/-

the maturity proceeds to an amount of
Rs.25000/- and interest earned Rs.6000/-?

Rs.25000/- & T2T &l arelm sara
Rs.6000/- §?




23|What is the interest earned, if the principal Rs.30000 Rs.25000 Rs.5000 Rs.5500 SITST &7 gIeM, Iie, Rs.12500/- Fhr Rs.30000 Rs.25000 Rs.5000 Rs.5500
is for Rs.12500/- maturity becomes to a eI Rs.17500/- 1 ST &7
amount of Rs.17500/-?

24|What is the matured amount for the deposit Rs.4500 Rs.5500 Rs.6000 Rs.6500 e AT grea grem, Iie Rs.4500 Rs.5500 Rs.6000 Rs.6500
of Rs.5000/- and the simple interest earned Rs.5000/- STAT fohaT 3147 4T 389 W
for Rs.500/-? Ao gt saTSr Rs.500/- &2

25|What is the simple interest for the principal Rs.1000/- Rs.5000/- Rs.50000/- Rs.10000/- Rs.100,000 I ¢RI 9T 10% Rs.1000/- Rs.5000/- Rs.50000/- Rs.10000/-
amount of Rs.100000 at 10% per annum for Thqie SATST T Al & § 2 A
1 year period? F foraar sarsT urea gem?

26|What is the compounded annual interest, for Rs.16800/- Rs.92400/- Rs.96800/- Rs.94800/- Rs.80,000/- ST GeRIIA WX 10% Rs.16800/- Rs.92400/- Rs.96800/- Rs.94800/-
a loan amount of Rs.80000/- at 10% per Tohalg SISl T aTffeh & & 2 A1l
annum for a period of 2 years? H fohdar e ureq gem?

27|What is the compounded amount, if the Rs.30347/- Rs.32347/- Rs.33347/- Rs.34347/- TR 2 ’5" gfg Rs.30000/- &l Rs.30347/- Rs.32347/- Rs.33347/- Rs.34347/-
principal of Rs.30000/- and interest earned qous AR saa 7% gfdaw
at 7% per annum is Rs.4347? Rs.4347 &2

28|What is the difference between the simple Rs.5 Rs.25 Rs.50 Rs.55 2 a9 & HTYRUT sATSA 3R Rs.5 Rs.25 Rs.50 Rs.55
and the compound interest amount at 5% SITST T 3R fohdar grem, afe
per annum for 2 years on a principal of FHeltel Rs.20000/- 4T sqTal 5%
Rs.20000/-? CUECE

29|What is the maturity amount if Rs.20000 is Rs.22000 Rs.22050 Rs.22500 Rs.25000 TRaeT 1 819m, Ife Rs.20000 hr Rs.22000 Rs.22050 Rs.22500 Rs.25000
deposited at 5% compound interest per fAr 5% Tehqfg SATST & eX & 2
annum for 2 years? asf & fou FAT fRar ar=ar &2

30|What is the compound interest on a Rs. 9000 Rs.9720 Rs.10123.20 Rs.10483.20 Rs.25000 &l 12% dTshqlg i ardieh Rs. 9000 Rs.9720 Rs.10123.20 Rs.10483.20

principal of Rs.25000/- after 3 years at the
rate of 12% per annum?

e @ 3 ast &1 Thgfg AT TRt
grem?




Name of the Trade - Workshop Calculation and Science - 2" Year NSQF - Module 8 - Esitmation and Costing

Question OPTA OPT B OPTC OPTD Question OPTA OPT B OPTC OPTD Ans |Level
1|What is the other term used for reference table? Dictionary Biography Bibliography Information table  [@gsT arfereT & o s&aAT TegahTel Shrasir JUgA CoUGUGE D 1
forar et arem gEeT ereg & €7
2|Which hand book referred by machine engineer? Parry's cheorikal CRC Mark standard Oxford Dictionary |72l SR gRT ATcse RS FgRF TrIRAT HATh TCUSS R EREAE] C 1
q et T §7? ASGHIA
3|What is a hand book? Model book of various Type of reference Design book of latest | Dictionary of materials g%@l FT g2 AT ST HT TS F F1 | AdiAdH P & ATHI AT B 1
works work or other works Al g YR AT IS [EGIECRCCY QAscehler
collection of instruction Sl AT Hig
4|Which standard schedule of rates to be considered for Standard schedule of | Standard schedule of | Standard schedule of | Standard schedule of [3iJHTA & T T & fhe AT | oo a¥ &1 Xt | Moo a7 awl R NERE R D 1
estimation? rates of the last year |rates of the average of | rates of the average | rates of the current |9 faaR foRam Srar &2 T AT AT |Fr AT A A | H 3 T FHr | Ae g
the last 10 years of last 5 years year Hisleh r Al FT
5(What is a over estimate? When an estimate is | When an estimate is | When an estimate No work started as  |3]HT & 318 &rm g2 S AT ST AT S AT A & A 1
exceeded to actual fell short of the actual | perfectly matches the per estimate arEdTdeh AT |arEdideh H%ﬂﬁr arEdTdeh AT |3JHAR EF’I? Cac)
estimate estimate actual estimate J 37 & ¥ A & ST B E ST AT AT
6|What is a under estimate? No work started as per | An estimate perfectly | An estimate is fell An estimate is A & dgd T 572 ;%IHFI & IFFER | ol e AT ST 3] AT ST 3T HTed C 1
estimate matches with actual | short of the actual | exceeded the actual HH Y& A6l (AR A |dREddeh A |drEdiden e]HTT
estimate estimate gang T SR @l T HH T 30 B
7|What is the term used for the method of calculating Estimation Drawing Specification Plan ol faferse s a1 ufshar & 3TTeholeT IBECT Tqaor TYSTeT A 1
various quantities and expenditure on a particular job or et AT 3R 3 Hir
process? IUTAT e AT fafer & e =T
H @ STl arelr rearaelr 4T 57
8|What is the main factor to be considered while preparing Shape of material Brand of the materials | Quantity, availability | Location of material |fa¥cd 3JAE IR &d THIT AT T PR | T FT S5 | T T #AET, | Tl &1 &= | C 1
a detailed estimate? and transportation of e J%UI FRE F I IGAT 3Yerstrar AR
materials qgdr g? qRaget
9|Which authority publishes schedule of rates? Individual Corporate Partnership firm Government Flet-a1 WIfaRoT & & g fhaTd R @ §efd | 9CeRT BH | ERGBRT [GHTT D 1
department AT JHITRAT AT 87 (FraRe)
10|What is the name of a booklet, the rates of various Price bank Price bunch Price tag Price catalogue %‘I:Fiﬂ H ATH FT g, foraH Hed dh He Tl Hed il Hed gt D 1
terms are indicated? U FHT Ghd fear Jrar
e?
11|What is the term, for the details of materials, brand Drawing Specification of Raw materials Price catalogue  |T#l, §Tg &, J[UTdcdl &I IS, IBEET el &1 fafager|  Foar A Hed gt B 1
name, grade of quality, rating of current and voltage etc.? materials e 3R drecs 3fe & T &
feror & fav g ereg &
3YAET foRaT ST §7




12|What is the use of engineering drawing? For estimation of For colourful For reducing the cost |For increasing the cost|SSiifeiaReT 3i5eT T FAT 39AT | AEFEN AR ®F | T 39 | aFd & FA7 [ dnd 7 3 &
material and execution appearance g7 & fasdrest & F fow A & fow fow
of work oo iy
fow
13|What is the other term of pocket reference in Hand tool Hand book Good book New book SSNAGNAT AT H Gihe Thd BIEIEES EUSED s g& g g%
engineering works? ol qalT Asq AT 87
14|Which one is related to estimation of work? Bill of material Packing Information table Hand book 3H | Flel, HI &F A & T T T SfRaT A RO t3 g%
gefaa g2
15|What is a total cost? Raw material costonly | Machining cost only | Raw materials cost | Advertisement cost [Fel dRId &T &2 Fadl dodl AT | Sad AMTIeT FTd AT I Fadl Gt
and machining cost only FI AT CIEIG GIEIGEEIIR T
FMfeAer amera
16|Who prepares the cost of estimation? Operator Quality Inspector Estimator Draughts man 3TTeheleT ST AT il IR 3R BCErSIRENESED AT STFCTAA
FAT 87
17|Which one is included in machining estimation sheet? Transport cost Advertisement cost Raw material cost Tax SoTH H Flef AN A fe | IRage omrd AT deTd | Fedl AT d9Td ETS
# arffa g2
18|What is the minimum permissible size of aluminium wire 1.5 sq.mm 2.5 sg.mm 5sgq.mm 3.5sg.mm 3Tehelel H 39197 fhU 3T 1.5 sqg.mm 2.5 sq.mm 5 sgq.mm 3.5 sg.mm
used in estimation? T fATTH & ar & FGATH
TR IMHR AT 572
19|What is the minimum permissible area of conductor 25 sg.mm 50 sg.mm 5sg.mm 100 sq.mm QTI?} T PR dhad & fov 25 sg.mm 50 sg.mm 5 sg.mm 100 sq.mm
(U/G cable) for three and half cores cable? $sF (U/G helel) I 1A
THPRT &aF T &2
20|Which one is the most reliable estimate? Priliminary estimate Plinth area estimate | Cube rate estimate Detailed estimate  [3o7H & Hld FIH [A2TEA WATAS A | Tory TRaAm FYA &Y A | TaEqd 3HeJAT
HATT §? AT
21|Which IE rules are to be verified on completion of wiring IE Rules, 1956 IE Rules, 1960 IE Rules, 1961 IE Rules, 1967 Rdl o o3 TAYAT W Rt & IE 737, 1956 IE 79, 1960 | |E fog#, 1961 | IE 9394, 1964
on any new installation? @ g W 6d IE s @t
Feafad forar Srar g2
22|What describes the detailed specification for the item of Quality, Quantity, Colour Tax, Transport, Maintenance, Stock, &l & fa¥qd afqer & Juisl guﬁﬁﬂ AT, 1 eI, IRdgeT, 3 | IWIW@1G, T,
work? Workmanship, Method Overhead expenses Cost AT &2 RGLCICGE [ipg CIEIGE
of execution #r fafer
23|Which of the impurity in cast iron makes it hard and Silicon Sulphur Maganese Phosphorus Fed dlg H ieT-dl Y 34 aforpred o ettt HIEHRE
brittle? FOR AR HIAT FATaT 82
24|What cables are used for 132KV lines? High tension Super tension Extra high tension Extra super voltage [132KV @T8ai & fov foha dhae 3= ded R dod faRed 3= JfaRed g
T 39T RIT ST 87 GoICH GoIG]
25|Which specification is other than general specification? Brief specification Bulk specification | Detailed specification | Main specification [#l7-a1 AfAcer, @meA=T [_AAST gferea fafader Ut fafader foeqa Afcey | Feg [y

T 37T &7




26|What percentage of water absorbed by a good building Less than 10% Less than 20% Less than 8% Less than 5% T 3T SARD & IR gRI 10% & & 20% H ®H 8% T HA 5% & HHA
stone? NI urelr 1 gfaera Far €2
27|What is the relative permitivity of rubber? Between 2 and 3 Between 5 and 6 Between 8 and 10 Between 12 and 14 (ISR &1 3TdTeish fagaeierar a1 |23 3 g # (53R 6% g #| 83K 10% g | 123K 14
giem g2 & T
28|What is the weight of the iron ball has volume of 250 cc 1750 gram 1875 gram 1975 gram 1785 gram 39 cllg $r 3G T Jofel Tohdell 1750 gram 1875 gram 1975 gram 1785 gram
and density 7.5 gm/cc? 819, forgeT 3madaeT 250 cc 3R
gelcd 7.5 gm/cc §?
29|What is the weight of a rectangular block of a cost iron 312 kg 372 kg 410 kg 525 kg 250cm X 20cm X 8cm (FTd ol 312 kg 372 kg 410 kg 525 kg
of 250cm X 20cm X 8cm (density of cast iron is 7.8 &l Holcd 7.8 gm/cm ) F TH
gm/cm®)? HAAER Solidh &l aofed AT &2
30|What is the total estimation cost for making the Rs.102 Rs.100 Rs.112 Rs.110 Tolc A 3| 8/-9fd 3o ¥¢ IR Rs.102 Rs.100 Rs.112 Rs.110
component of 8 drilled hole dia 10 mm and 4 Numbers 31 12 9f e 3R 9, af 8
of M6 taps in the plate, if Rs.8/- per drilled holes and 3o fpT arv grer 337 10 f&eT
Rs.12 per drill and tap? 3R 47 UH 67cl & gch
I & AU Fd A dREIT
F1 §?
31 |What is the estimation of milling cost of a rectangular Rs.652/- Rs.752/- Rs.572/- Rs.960/- 100 X 80 X60 mm (Ife #ifcrer & Rs.652/- Rs.752/- Rs.572/- Rs.960/-
block size 100 X 80 X60 mm, if cost of the milling is ANTT Rs.2/sg.cm & Ush
Rs.2/sq.cm? 3TAATPR selich &7 Hfoiar T
TohcleTT gram?
%
§
g
32|What is the total wattage in a room if 2 tube lights of 340 W 440 W 540 W 640 W Tsh FHHAY T el dIc &TAdT FT 340 W 440 W 540 W 640 W
50W rating, 2 fans of 80W rating, 2 numbers of light gel, Ife 3|A 5091 F 2 TPF
points of 60W rating, one fan point of 60W rating and A1ST 8, 80W & 2 9W &, 60W &
one 3 pin socket of 100W rating? 2 d1ST wised §, 60W & Th
et L—q’TgE g 3k 100w & 3 =T
didhe 87
33|What is the total labour charges for a particular wiring Rs. 2000 Rs. 2400 Rs. 3000 Rs. 1400 T ST AIA iR TFH Jgs Rs. 2000 Rs. 2400 Rs. 3000 Rs. 1400

work completed in 2 days by one electrician and one
helper.(Electrician @ #800/day and helper @ = 400/day)

gRT 2 et 7 g fhw 9T T
fady art & &H & v Fo
m%?w%?(saaaﬁmr
800/fesT 3R TeT@® 400 F/fea)




34|What is the total cost of painting of a class room Rs.15000/- Rs.16700/- Rs.17700/- Rs.18700/- Jig Teh HaTl '@I’H@rm 6 Rs.15000/- Rs.16700/- Rs.17700/- Rs.18700/-
including ceiling, if the size of length is 6m, breadth is A, =tss 54 3R Fars 44 8,
5m and height is 4m. (Painting + labour cost Rs.150/- dr 3@ et # fcler @fea dfear
per sg.m) T areTd fohdar grem? (dfeaT
+ S AT 150 T/ #Y)
35|What is the total cost to assemble 10 personal computer Rs.275000/- Rs.250000/- Rs.225000/- Rs.265000/- 10 TS FFrge F & fow Rs.275000/- Rs.250000/- Rs.225000/- Rs.265000/-
systems, spares cost as given for one system: 1 TB ThdelT e oraram, Ife T
hard disc Rs.4500/-, Intel i3 mother board Rs.7000/-, & UIE T o9Tg gl S,
SMPS Rs.2500/-, monitor Rs.6000/-, keyboard Rs.1000/- 31-5& 3 4500 ¥, sﬁ?‘r i3 HAcY
, other material cost (Switches, USB, Cables etc.,) sI5 7000 &, SMPS 2500 ¥,
Rs.6500/-? Alfelex 6000 &, FES 1000 F,
3 G AETd 6500 € g2
36|What is the total construction cost of a house Rs.30,000,000 Rs.60,00,000 Rs.6,00,000 Rs. 60,000 3000 TaT P F °T HT AT Rs.30,000,000 Rs.60,00,000 Rs.6,00,000 Rs. 60,000
construction area of 3000 sq.ft. (cost of construction deTd F21r 82 (RaETeT i aerg
Rs.2000/- per sq.ft including material and labour)? Rs.2000/- per sq.ft @& 3R
7 afgd)
37|What is the total cost of Air-conditioners installed in a Rs.10 lakhs Rs. 20 lakhs Rs. 12 lakhs Rs. 15 lakhs T Fioel H T I & Rs.10 lakhs Rs. 20 lakhs Rs. 12 lakhs Rs. 15 lakhs
college, 40 class room-each 1 Air-conditioner, Computer GG ol oI, It s
lab 5 Air- conditioners and conference hall 5 Air- ﬂv@ﬁr # 40 T, 5 ol IR 5
conditioners (Cost of one air conditioner Rs.30000/- Hlthid gleT § T Fedeh el
including installation)? A Th TH IAF A9 7 5 T
TUT I glel H 5 THY. ofammem
£? (1 T.E). #r a1 30,000 F )
38|What is the total estimation cost for mandrel, if density is Rs.156/- Rs.216/- Rs.168/- Rs.180/- Asa & QT Pl HJHIel SIETT Rs.156/- Rs.216/- Rs.168/- Rs.180/-
7.8 gm/cm® and material cost is Rs.240 per kg? Fa1 ¢, Il geica 7.8 gmiecm® &
3R el awTa 240 w/fAT &2
g 230
R
18 120 18 2
All Dimensions are in mm g
39|What is the estimation of labour charge for making Rs.500/- Rs.450/- Rs.350/- Rs.400/- 30 X 30 mm 3R & I & eI Rs.500/- Rs.450/- Rs.350/- Rs.400/-

inside square of size 30 X 30 mm, if making charge
Rs.500/10cm??

an
70

30
70

WEGN28L2Q37

T & T sffe g9r &1
AT AT §, 3R JHAR
Rs.500/10cm? &?




